[fUFIT SAE SPLIT FLANGES HALVES (ISO 6162)

LA
Y S LX
= S ‘
] (1L
4 = ‘
5] 8 x| = -
Q| e
\J_ Ly |
_— Y
\
| L2 1
L3 \ @ DB
3000 PSI Standard Pressure Series (According to 1ISO 6162-1)

SAE (1) WEIG PN TUFIT
(IN) (DN) D1 D2 L1 L2 L3 LA LB LX LY DB BOLT HT (bar) PART NO.
" 13 24.26 30.96 6.22 13 19 22.8 54 8.74 38.1 85 | M8x25 0.08 345 SFHO012
%" 19 32.13 38.89 6.22 14 22 25.9 65 11.13 | 47.63 | 105 | M10X30 | 0.09 345 SFHO034
1 25 38.48 45.24 7.49 16 24 29.2 70 13.08 | 5237 | 105 | M10X30 | 0.11 345 SFHO01
1y, 32 43.69 51.59 7.49 16 22 36.3 79 15.08 | 58.72 12 | M10X30 | 0.15 276 SFH114
1%" 38 50.8 61.09 7.49 16 25 411 9 17.86 | 69.85 | 135 | M12x35 | 0.23 207 SFH112
2 51 62.74 72.24 9.02 16 26 48.2 102 | 2144 | 77.77 | 135 | M12x35 | 0.25 207 SFH002
25" 64 74.93 84.94 9.02 19 38 54.1 114 25.4 88.9 135 | M12x40 | 0.37 172 SFH212
3" 76 90.93 | 102.39 | 9.02 22 41 65.3 135 | 30.96 | 106.38 | 17 | M16X50 | 0.65 138 SFH003
3" 89 102.4 1151 | 10.72 22 28 68.6 152 | 34.95 | 1207 17 | M16X50 | 0.75 34 SFH312
4 102 | 11506 | 127.79 | 10.72 25 35 76 162 | 38.88 | 130.18 | 17 | M16X50 | 0.83 34 SFH004
5" 127 1405 1532 | 10.72 28 41 90 184 46 152.4 17 | M16X50 1.25 34 SFHO005
6000 PSI High Pressure Series (According to 1ISO 6162-2)

" 13 2464 | 32.54 7.24 16 22 236 56 9.12 | 40.49 85 | M8X30 0.08 420 SFH012-6
%" 19 3251 | 42.06 8.26 19 28 30 71 11.91 | 508 105 | M10X35 | 0.175 420 SFH034-6
1 25 38.86 | 48.41 9.02 24 33 34.8 81 13.89 | 57.17 | 125 | M12X45 | 0.265 420 SFH001-6
1Y 32 4445 | 54.76 9.78 27 38 38.6 95 15.88 | 66.68 | 14.5 | M14X45 | 0.405 420 SFH114-6
1%" 38 5156 | 64.29 12.07 30 43 475 113 | 18.26 | 79.38 | 16.8 | M16X55 | 0.675 420 SFH112-6
2 51 67.56 | 80.16 12.07 37 52 56.9 133 | 22.23 | 96.82 21 | M20X55 1.05 420 SFH002-6
25" 64 90 108.9 205 45 45 75.1 180 294 | 123.8 26 | M24x75 | 2.05 420 SFH212-6
3" 76 115 1325 255 55 55 99.1 215 357 | 1524 31 | M30x90 43 420 SFH003-6
. . Tufit Part No.
Material Surface Protection
Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright SFHO012
Passivated
AISI-304 Natural Finish SFH01254
AISI-316 Natural Finish SFH012S6

01




[UFIT SAE MONO FLANGES (ISO 6162)

L1

/i
N 1]ls8
\ QQ
\4 ]

’ L2

e

L3
3000 PSI Standard Pressure Series (According to 1ISO 6162-1)

%ﬁl')z (ON) D1 D2 L1 L2 L3 LA LB | Lx LY | @ps | BOLT | WEIGHT (Eg‘r) PIST':'JO_
" 13 24.26 3096 | 6.22 13 19 45.6 54 | 17.48 | 381 850 | M8x25 0.15 345 MF012
%" 19 32.13 38.89 | 6.22 14 22 51.8 65 | 22.23 | 47.63 | 1050 | M10X30 0.17 345 MF034
1 25 38.48 4524 | 7.49 16 24 58.4 70 | 26.19 | 5237 | 1050 | M10X30 0.22 345 MF001
1y, 32 43.69 5159 | 7.49 16 22 726 79 | 3018 | 5872 | 1050 | M10X30 0.3 276 MF114
1%" 38 50.8 61.09 | 7.49 16 25 82.2 94 | 3571 | 69.85 | 12.00 | M12X35 0.45 207 MF112
2 51 62.74 7224 | 9.02 16 26 96.4 102 | 42.88 | 77.77 | 1350 | M12X35 0.5 207 MF002
25" 64 74.93 84.94 | 9.02 19 38 108.2 114 | 50.8 88.9 | 13.50 | M12x40 0.74 172 MF212
3" 76 90.93 | 102.39 | 9.02 22 41 130.6 135 | 61.93 | 106.38 | 17.00 | M16X50 1.3 138 MF003
3" 89 102.4 1151 | 1072 | 22 28 140 152 | 69.9 120.7 | 17.00 | M16X50 1.5 34 MF312
4 102 | 11506 | 127.79 | 10.72 | 25 35 152 162 | 77.77 | 130.18 | 17.00 | M16X50 1.65 34 MF004
5" 127 | 14046 | 1532 | 1072 | 28 41 180 184 | 92.08 | 1524 | 17.00 | M16X50 25 34 MF005

6000 PSI High Pressure Series (According to 1ISO 6162-2)

" 13 24.64 3254 | 7.24 16 22 47.2 56 | 18.24 | 40.49 8.5 M8X30 0.16 420 MF012-6
%" 19 3251 4206 | 826 19 28 60 71 238 50.8 105 | M10X35 0.35 420 MF034-6
1 25 38.86 4841 | 9.02 24 33 69.9 81 | 2776 | 57.15 | 125 | M12x45 0.53 420 MF001-6
1Y 32 44.45 5476 | 9.78 27 38 77.2 95 | 3175 | 66.68 | 145 | M14X45 0.8 420 MF114-6
1%" 38 51.56 6429 | 12.07 | 30 43 95 113 | 365 | 79.38 | 168 | M16X55 1.35 420 MF112-6
2 51 67.56 80.16 | 12.07 | 37 52 1138 133 | 44.45 | 96.82 21 M20X55 2.1 420 MF002-6
25" 64 90 1089 | 205 45 45 150.2 180 | 58.8 | 1238 26 M24X75 41 420 MF212-6
3" 76 115 1325 | 255 55 55 198.16 | 215 | 71.6 | 152.4 31 M30X90 8.6 420 MF003-6

Material Surface Protection VLIS PEGL 2@,
Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright MF012
Passivated
AISI-304 Natural Finish MF012S4
AISI-316 Natural Finish MF012S6

02




[[UFiT SAE MONO METRIC TAPPED FLANGES (ISO 6162)

LA
_H LX
| ———
7 A e
/ w
| N
oo y ]
Q|
N\ L
7 1] =
| L2 T
L3
3000 PSI Standard Pressure Series (According to 1ISO 6162-1)
SAE T1 PN TUFIT
(IN) (DN) D1 D2 L1 L2 L3 LA LB LX LY DB BoLT | WEGHT | o | paRT NO.
" 13 2426 | 3096 | 622 | 13.00 | 19.00 | 4560 | 54.00 | 17.48 | 38.1 M8 M8X25 0.15 345 MMF012
%" 19 3213 | 3889 | 6.22 | 14.00 | 22.00 | 51.80 | 6500 | 2223 | 47.63 | M10 | M10OX30 0.17 345 MMF034
1 25 3848 | 4524 | 749 | 16.00 | 2400 | 5840 | 70.00 | 26.19 | 52.37 | M10 | M10X30 0.22 345 MMF001
1y, 32 4369 | 5159 | 749 | 16.00 | 2200 | 7260 | 79.00 | 30.18 | 58.72 | M10 | M10X30 0.3 276 MMF114
1%" 38 50.80 | 61.09 | 7.49 | 16.00 | 25.00 | 8220 | 94.00 | 3571 | 69.85 | M12 | M12X35 0.45 207 MMF112
2 51 62.74 | 7224 | 902 | 16.00 | 26.00 | 96.40 | 102.00 | 42.88 | 77.77 | M12 | M12X35 0.5 207 MMF002
25" 64 7493 | 8494 | 902 | 19.00 | 38.00 | 108.20 | 114.00 | 50.8 88.9 M12 | M12X40 0.74 172 MMF212
3" 76 90.93 | 102.39 | 9.02 | 22.00 | 41.00 | 130.60 | 135.00 | 61.93 | 106.38 | M16 | M16X50 1.3 138 MMF003
3" 89 | 102.40 | 115.10 | 10.72 | 22.00 | 28.00 | 140.00 | 152.00 | 69.9 | 120.7 | M16 | M16X50 1.5 34 MMF312
4 102 | 115.06 | 127.79 | 10.72 | 25.00 | 35.00 | 152.00 | 162.00 | 77.77 | 130.18 | M16 | M16X50 1.65 34 MMF004
5" 127 | 140.46 | 153.20 | 10.72 | 28.00 | 41.00 | 180.00 | 184.00 | 92.08 | 152.4 | M16 | M16X50 25 34 MMF005
6000 PSI High Pressure Series (According to ISO 6162-2)
" 13 2464 | 3254 | 7.24 16 22 47.2 56 18.24 | 40.49 M8 M8X30 0.16 420 | MMF012-6
%" 19 3251 | 42.06 | 8.26 19 28 60 71 238 50.8 | M10 | M10X35 0.35 420 | MMF034-6
1 25 38.86 | 4841 | 9.02 24 33 69.9 81 2776 | 57.15 | M12 | M12x45 0.53 420 | MMF001-6
1Y 32 4445 | 5476 | 9.78 27 38 77.2 95 3175 | 66.68 | M14 | M14x45 0.8 420 | MMF114-6
1%" 38 5156 | 64.29 | 12.07 30 43 95 113 365 | 79.38 | M16 | M16X55 1.35 420 | MMF112-6
2 51 67.56 | 80.16 | 12.07 37 52 113.8 133 4445 | 96.82 | M20 | M20X55 2.1 420 | MMF002-6
25" 64 90 1089 | 205 45 45 150.2 180 588 | 1238 | M24 | M24x75 41 420 | MMF212-6
3" 76 115 1325 | 255 55 55 198.16 | 215 716 | 1524 | M30 | M30X90 8.6 420 | MMF003-6
. . Tufit Part No.
Material Surface Protection
Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright MMF012
Passivated
AISI-304 Natural Finish MMF012S4
AISI-316 Natural Finish MMF012S6

03




[fUFIT INTEGRATED FBSP WITH O RING (ISO 6162)

T

@ D1

SN
=)

e
=

|

3000 PSI Standard Pressure Series (According to 1ISO 6162-1)

?I':II)E (ISIEI)) T1 D1 L1 L2 L3 LA LB LX LY Dag BOLT WEIGHT Z”\:‘“) P;I;J'II':II-\IFO.
" 13 " 13 36 16 18 47 57 175 38.1 8.7 M8X30 0.25 345 IFG012
4" 19 4" 19 36 18 18 50 67 22.3 47.6 105 M10X35 0.37 345 IFG034
1" 25 1" 25 38 18 18 54 72 26.2 52.4 105 M10X35 0.45 345 IFG001
194" 32 194" 31 41 21 20 68 82 30.2 58.7 10.6 M10X40 0.66 276 IFG114
1%" 38 1%" 38 44 25 22 79 96 35.7 69.9 135 M12X45 1.05 207 IFG112
2" 51 2" 47 45 255 24 88 102 42.9 77.8 135 M12X45 117 207 IFG002
295" 64 295" 63 50 26 28 101 115 50.8 88.9 135 M12X45 1.59 172 IFG212
3" 76 3" 70 50 27.5 28 124 137 61.9 106.4 17 M16X50 2.28 138 IFG003
4" 102 4" 99 48 27 34 146 162 77.8 130.2 175 M16X50 2.78 34 IFG004

6000 PSI High Pressure Series (According to 1ISO 6162-2)

" 13 " 13 36 16.5 19 a7 57 18.2 40.5 8.7 M8X30 0.29 420 IFG012-6
a" 19 a" 18 36 20 20 54 72 23.8 50.8 105 M10X35 0.5 420 IFG034-6
1" 25 1" 22 44 24 22 68 82 27.8 57.2 13 M12X45 0.76 420 IFG001-6
1va" 32 1va" 32 44 275 22 79 95 31.8 66.6 15 M14X45 12 420 IFG114-6
1" 38 1" 38 51 31 24 88 108 36.5 79.3 17 M16X55 1.65 420 IFG112-6
2" 51 2" 51 70 37 35 118 137 44.5 96.8 21 M20X70 2.45 420 IFg002-6
AZS 63 21" 63 80 45 32 150 166 58.7 123.8 25 M24X90 7.9 420 IFG212-6
3" 73 3" 73 90 55 40 178 208 714 152.4 32 M30X110 14.5 420 IFG003-6

Material Surface Protection Tufit Part No.
Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright IFG012
Passivated
AISI-304 Natural Finish IFG01254
AISI-316 Natural Finish IFG012S6

04



[UFIT INTEGRATED FBSP WITH FLAT FACE (ISO 6162)

@ D1

T

NN

3000 PSI Standard Pressure Series (According to 1ISO 6162-1)

%ﬁl')z ('Sﬁ) T1 D1 L1 L2 L3 LA LB LX LY T2 B&Z_T WEIGHT (Ea':'r) o ATFETF Ir\To.
" 13 " 13 36 16 18 47 57 17.5 38.1 M8 M8X30 0.25 345 IFMG012
¥ 19 %" 19 36 18 18 50 67 223 47.6 M10 | M10X35 0.37 345 IFMG034
1 25 1" 25 38 18 18 54 72 26.2 52.4 M10 | M10X35 0.45 345 IFMG001
14" 32 14" 31 41 21 20 68 82 30.2 58.7 M10 | M10X40 0.66 276 IFMG114
1%" 38 1%" 38 44 25 22 79 926 35.7 69.9 M12 | M12x45 1.05 207 IFMG112
2 51 2" 47 45 255 24 88 102 42.9 77.8 M12 | M12x45 1.17 207 IFMG002
215" 64 2" 63 50 26 28 101 115 50.8 88.9 M12 | M12x45 1.59 172 IFMG212
3" 76 3" 70 50 275 28 124 137 61.9 | 1064 | M16 | M16X50 2.28 138 IFMG003
4 102 4 99 48 27 34 146 162 778 | 1302 | M16 | M16X50 2.78 34 IFMG004

6000 PSI High Pressure Series (According to 1ISO 6162-2)
" 13 " 13 36 165 19 47 57 18.2 405 M8 M8X30 0.29 420 IFMG012-6
" 19 %" 18 36 20 20 54 72 23.8 50.8 M10 | M10X35 0.5 420 IFMG034-6
1" 25 1" 22 44 24 22 68 82 27.8 57.2 M12 | M12x45 0.76 420 IFMG034-6

13" 32 14" 32 44 275 22 79 95 31.8 66.6 M14 | M14X45 1.2 420 IFMG114-6
1%" 38 1" 38 51 31 24 88 108 36.5 79.3 M16 | M16X55 1.65 420 IFMG112-6
2 51 2" 51 70 37 35 118 137 445 96.8 M20 | M20X70 2.45 420 IFMG002-6
215" 63 2" 63 80 45 32 150 166 58.7 | 1238 | M24 | M24X90 7.9 420 IFMG212-6
3" 73 3" 73 20 55 40 178 208 714 | 1524 | M30 | M30X110 14.5 420 IFMG003-6

Material Surface Protection VLIS PEGE NG,
Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright IFMG012
Passivated
AISI-304 Natural Finish IFMG012S4
AISI-316 Natural Finish IFMG012S6

05




[fUFIT INTEGRATED BLIND WITH ORING (ISO 6162)

LY

Q/'

@ i

@ D1

L1

3000 PSI Standard Pressure Series (According to 1ISO 6162-1)

?Iﬁl')z ISO (DN) L1 LA LB LX LY ? bB BOLT WEIGHT | PN (bar) | TUFIT PART NO.
" 13 16 47 57 17.5 38.1 8.8 M8X30 0.3 345 BFO012
%" 19 18 50 67 223 476 10.5 M10X35 0.37 345 BFO034
1 25 19 54 72 26.2 52.4 10.5 M10X35 0.54 345 BFO001
1y 32 18 68 82 30.2 58.7 10.5 M10X40 0.9 276 BFO114
1% 38 20 79 96 35.7 69.9 135 M12X45 1.03 207 BFO112
2 51 20 88 102 429 77.8 135 M12X45 13 207 BFO002
245" 64 20 101 115 50.8 88.9 135 M12X45 1.45 172 BFO002
3 76 24 127 137 61.9 106.4 17 M16X50 2.72 138 BFO003
4 102 27 146 162 77.8 130.2 17 M16x50 3.1 34 BFO04

6000 PSI High Pressure Series (According to ISO 6162-2)

¥ 13 16 47 57 18.2 405 8.8 M8X30 0.3 420 BFO012-6
7 19 19 54 72 23.8 50.8 10.5 M10X35 0.44 420 BFO034-6
1 25 24 68 82 27.8 57.2 13 M12X45 0.73 420 BFOO01-6
1y 32 27 79 95 31.8 66.6 15 M14X45 0.85 420 BFO114-6
1% 38 30 88 108 36.5 79.3 17 M16X55 1.61 420 BFO112-6
2 51 36 118 137 445 96.8 21 M20X70 331 420 BFO002-6
245" 64 45 150 166 58.7 123.8 25 M24X90 45 420 BF0O212-6
3 76 55 178 208 71.4 152.4 32 M30X110 5.3 420 BFO003-6

Material Surface Protection VLU [P 1D,
Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright BFO012
Passivated
AISI-304 Natural Finish BFO012S4
AISI-316 Natural Finish BFO012S6

06




[UFIT INTEGRATED BLIND WITH FLAT FACE (ISO 6162)

LB
LY

@ D1

v

3000 PSI Standard Pressure Series (According to 1ISO 6162-1)

%ﬁl’)z ('Sﬁ) L1 LA LB LX LY T1 BOLT WEIGHT (E ;"r) TUFIT PART NO.
" 13 16 47 57 17.5 38.1 M8 M8X30 0.3 345 BFF012
¥ 19 18 50 67 223 47.6 M10 M10X35 0.37 345 BFF034
1 25 19 54 72 26.2 52.4 M10 M10X35 0.54 345 BFF001
14" 32 18 68 82 30.2 58.7 M10 M10X40 0.9 276 BFF114
1%" 38 20 79 926 35.7 69.9 M12 M12X45 1.03 207 BFF112
2 51 20 88 102 42.9 77.8 M12 M12X45 1.3 207 BFF002
215" 64 20 101 115 50.8 88.9 M12 M12X45 1.45 172 BFF212
3" 76 24 127 137 61.9 106.4 M16 M16X50 2.72 138 BFF003
4 102 27 146 162 77.8 130.2 M16 M16X50 3.1 34 BFF004
6000 PSI High Pressure Series (According to ISO 6162-2)
" 13 16 47 57 18.2 405 M8 M8X30 0.3 420 BFF012-6
" 19 19 54 72 23.8 50.8 M10 M10X35 0.44 420 BFF034-6
1" 25 24 68 82 27.8 57.2 M12 M12X45 0.73 420 BFF001-6
13" 32 27 79 95 31.8 66.6 M12 M14X45 0.85 420 BFF114-6
1%" 38 30 88 108 36.5 79.3 M16 M16X55 1.61 420 BFF112-6
2 51 36 118 137 445 926.8 M20 M20X70 3.31 420 BFF002-6
215" 64 45 150 166 58.7 123.8 M24 M24X90 45 420 BFF212-6
3 76 55 178 208 714 152.4 mso | MK 5.3 420 BFF003-6
. . Tufit Part No.
Material Surface Protection Example
Trivalent Cr(VI) - free
Carbon Steel Zinc Plated Bright BFF012
Passivated
AISI-304 Natural Finish BFF012S4
AISI-316 Natural Finish BFF012S6

07




